BT TRIA O - HEHHEE X T ﬂ?’ﬁJ‘zisEm AXBE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,431 87,159 41,772 45387
RIRET1T 4 11 5 6
RIRET2T 25 57 28 29
RIRET3T 114 385 187 198
RIRET4T 388 1,010 493 517
B 531 1,463 713 750
REH 2,609 6,325 2,972 3,353
L&A 4,115 9,618 4,604 5,014
5E 2,442 5,949 2,880 3,069
B AN 1,214 2,837 1,339 1,498
BERT 1,000 1,618 780 838
BER2T 745 1,467 692 775
BHERST 678 1,380 668 712
g 2,423 4,465 2,140 2,325
BARE 245 652 327 325
= 2,140 5,250 2,474 2,776
hERE 599 1,482 678 804
e 2,261 5,145 2,497 2,648
25 L ET 2,248 5,346 2,556 2,790
B &AL BT 72 164 67 97
HEFILET1T 591 1,333 628 705
HEFILET2T 596 1,389 665 724
HEZFILAT3T 575 1,376 672 704
g 1,834 4,262 2,032 2,230
B & it B Fr ET 629 1,552 761 791
BHEREBET1T 615 1,277 612 665
BHERERET2T 734 1,724 850 874
BHERERETST 779 1,753 815 938
HEFMHET4T 469 1,074 519 555
HEHFMHETST 782 1,688 807 881
HEHFHET6T 829 1,983 956 1,027
HEFRET7T 856 2,048 988 1,060
HERERETST 49 145 67 78
£t| 5113 11,692 5,614 6,078
HEF R FET 1,768 3,941 1,924 2,017
S|EFET1T 567 1,536 775 761
S|EFET2T 742 1,824 879 945
S|EFET3 T 737 1,523 733 790
g 2,046 4,883 2,387 2,496
ERE1T 547 1,344 643 701
EIRET2T 301 755 372 383
EREIST 452 1,298 634 664
EIRETAT 673 1,576 745 831
EIZEIST 460 960 479 481
g 2,433 5,933 2,873 3,060
MEH 2,674 6,136 2,900 3,236
J\THET1T 25 27 5 22
J\THET2T 25 65 33 32
J\THEI3T 57 136 63 73
B 107 228 101 127
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